For 1 and 2, Each diagram shows two congruent triangles. Fill in the blanks and give a
reason for each statement then write a congruence statement for each pair of triangles.
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Geometry 4-2: Triangle Congruence by SSS and SAS
Objective: To prove two triangles congruent using the SSS and SAS Postulates

In section 4-1 you learned that if two triangles have three pairs of congruent corresponding angles
and three pairs of congruent corresponding sides, then the triangles are congruent.

If you know this:

A= /X AB = XY

EREAY AC= XZ

LC= /7 B—C’ = ﬁ

Then you know this:

AABC = AXYZ

However, you do not need to know that all 6 corresponding parts are = in order
to conclude that two triangles are - . We have 4 ‘shortcuts’ that we will learn in

sections 4-2 and 4-3 that will help us conclude that two triangles are congruent.



Postulate 4-1: Side-Side-Side Postulate (SSS)
If three sides of one triangle are congruent to

\
the three sides of a;)ther triangle, then -\'Y\.Q k W D A -
Q . 4 Q

NG HF’“AP&K

Example 1: The bridge girders are the same size, as marked. Explain why AABD = ACBD.




QC1:

Given: HF = HJ. FG = JK, F
H is the midpoint of GK. I
Prove: AFGH = AJKH / e
D) &

Postulate 4-2: Side-Angle-Side Postulate (SAS)
If two sides and the included angle of one triangle are
congruent to two sides and the included awgle of another

triangle, then —\-Y\L ..\.Wb A
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*The word |[ \( hj d Qq is used frequently when referring to the angles and sides of a
triangle. Draw ABNX below.

BX is included betweenAEand 4— x N

ZN is included between Neand NX

Example 2: RS = TK . What other information do you need to prove ARSK = ATKS by SAS?
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QC 2: What other information do you need to prove AABC = ACDA by SAS?
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Example 3: From the information given, can you prove the two triangles congruent?
A) ARED = ACAT
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B) A4AEB = ADBC
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